BORILLA oPORTS

Flat Bench (10000109)




SHUORILLA oPORTS

- PII(IFESSIIINA[ GYM EQUIPMENT FOR EVERYONE

Maximum load: 400 kg




POORILLA GPORTS

Washer: (910) Hex Nut: (M10) Washer: (#8)
@ ) ©)
4x 2X 3x

Hex Bolt: (M10%85)

T

2X

Hex Bolt: (M8*65)

AAAAAAAAAAAAAAAAAAAAAAAAAA

Spanner

10~ ~ O




4
019
SOdz—(OTI) INN XoH SOdV— (0T @) Loysep .
S—=
VR
{ )
N~ 7

SOdg— (68+0TI) 310d X°H

/

VVWWWWVWWWVWVY

P
g
__’%
e
>
P
—
>

’—_—_/(

&
0Ty




SOdE— (8¢) IoUseR

©

SOdS— (G9*8IN) 3T0d X°H

|

I

8¢ G9x8IN

\—f———1




